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ToramwnsucbKe 2 11 0,8 ) 09| 09 10C3 60 08 | 16| 28 28 470 | 4e | BCP 40
2 5 3,7 (1) 381 38 8C31/131bn+Oc 71 08 [16] 3I 36 470 | 4e | BCP 60 g
11 3 27.5 () 127.7] 27.7 10C3+]/13 65 08 |16 28 28 505 | 4e | BCP 2 55 E
12 8 233 (1y 1240] 240 10C3+0c+bn+]/I3 66 ] 085 | la|f 25 26 480 | 4e | BCP > 20 g
20 18 0.5 (1) 081 08 7C33bn+Oct]l3 71 1075 [ la| 27 30 350 | 4e | BCP 'E 30 2
20 23 0.8 8C32bu+/13+0c¢ 71 1075 | la| 28 30 400 | 4e | BCP 8 35 g
22 8 4.8 (1) 47 1 4.7 10C3+bn 66 06 | lal 26 26 355 { 4e | BCP E 60 e o
22 4 207 (h 1213] 213 7C32bn10c¢ 66 08 |l1la| 27 28 430 | 4e | BCP 3 45 § é
31 18 2,2 (1) 23 | 23 }10Cy66)+bu+l3+C3(52)] 66 | 0,65 | la | 26 28 380 | 4e | BCP > 40 E 8
31 22 08 | () 091 09 [ 7C3(66)3C3(52)+bu | 66 | 0,7 [ 1a| 25 26 | 370 | 4¢ | BCP 2 40 2 3
31 26 3,0 (1) 32| 32 10C3+bn+/13+Oc 66 | 085 [ la| 26 26 500 | 4e | BCP E 60 ~§_
31 6 L7 | ) |21 ] 21 | 7Caecsentbo+is | 71 [ 0,75 [ la ]| 26 32 [ 360 | 4 | BCP g 30 £
31 8 2,1 8C3(71)2C3(51) 71 1075 2 21 20 280 | 4e | BCP g 30 § ,
32 29 3,0 10C3 66 0,7 1 24 28 400 | 4e | BCP Z 30 &
33 25 1,9 (1) 201 20 10C3+bn+/13 76 | 0,651 1 26 30 380 3 BCP 30 5
33 34 0,6 7C3313+bn+Oc 53 08 |laf 23 26 335 3 BCP 30




IoramusancsLKe 42 12 7,5 10C3+/13 66 | 0751 1 24 26 400 | 4e | BCP 40
43 20 49 (1) 5,2 5,2 10C3+bn 65 0,85 | la 25 26 470 3 BCP 35
43 44 0.6 (1) 0.3 0.3 10C3 58 0,75 | la 24 24 370 4e BCP 15
43 37 2.1 (1) 1,6 1,6 10C3 58 0,75 | la 24 24 370 3e { BCP 15
47 1 1,2 (1) 1,0 1,0 9C31J13+bn 64 | 0,7 1 23 24 320 | 4 | BCP 35
47 31 1,3 (1) 1,4 1,4 9C31bn+/13 66 0,7 la 27 30 400 4e | BCP 50
47 22 1,8 (1) 2.2 2,2 10C3+/I3+bn 57 0,7 la 24 24 360 4e | BCP 40
47 15 0.8 7C3(66)1C3(81)2bn+/13 | 66 | 0,75 1 16| 28 30 395 | 4¢ | BCP 40
47 33 0,7 (D 0,81 0.8 10C3+bn+/13 66 0,7 {1a] 27 32 460 | 4e | BCP 30
49 27 2,1 10C3 58 0,6 |laj 25 28 350 § 4¢ | BCP 30
50 23 1,5 (1) 1.3 1,3 % 10C3+bu 58 1075 | 1a]| 25 28 420 | 4¢ | BCP 50 °
55 21 0.9 9C31/I3+bn 66 08 | la| 27 30 495 | 3e | BCP 70 §
57 36 3.3 10C3+I3+bn+1'3 91 [ 065] 1 27 36 400 3 BCP 20 g
58 29 0,6 10C3+]I3 81 09 {la] 28 32 550 3 BCP K 30 =
58 25 0,5 (1) 0,6 1 06 10C3+Bn+]I3 66 07 {la| 26 28 390 | 3¢ | BCP E 30 2
59 11 2,6 6C3(71)3C3(56)1Bn+/13 | 71 [ 0,75 { 1 25 30 395 | 4e | BCP = 30 )
60 5 1,2 9C31Bn+[[3 54 0751 1af 23 24 340 | 4e | BCP E 30 cE
60 8 0,6 8C3250ne 57 08 llaj 23 26 340 | 4e | BCP 5 30 [
60 9 0,5 10C3 61 ] 075 ] 1a} 25 28 440 { 4e¢ | BCP §_ 30 E
63 12 0,9 () 0,8 ] 08 | 6C3(66)1bm2C3(9DN1J3 | 66 | 0,75 | 1 24 36 400 | 4¢ | BCP 2 40 e
65 8 1,2 () 1,1 1,1 7C33bn+13 60 ] 065 la| 25 30 330 | 4¢ | BCP 3 60 §
71 31 2.4 8C3(81)1/131C3(66) 81 0.7 116] 31 40 470 | 4e | BCP E 40 =
71 32 2.9 (1) 1.3 1,3 9C31/I3+[3 81 0.7 16 31 40 480 4e | BCP 5 35 'g
72 12 0.5 9C31/13 66 |1 0751 1 24 30 360 3 BCP ;': 30 ‘3
78 11 1,3 (1) 1,5 1,5 9C31]43+bn 57 1085 {la] 24 24 400 | 4e | BCP S 30 g
78 13 0.8 7C33bn+"3+]13 66 0.8 la 26 30 365 3e | BCP 35 §
78 6 3,5 (1) 34| 34 10C3+/13+bn 66 | 065 ) 1a]| 26 30 400 | 4¢ | BCP 40 Z
79 25 1,5 10C3+bn+]I3 91 0.7 1 29 36 480 | 3e | BCP 30 5
79 30 0.8 (1) 0,71 07 10C3+/13+bn 91 0.7 1 29 36 480 3 BCP 30
89 17 3,5 7C3(96)3C3(76) 96 10551 1 28 34 350 | 3¢ | BCP 30
89 20 0,5 9C31/[3 126 { 0,55 2 27 36 330 3 BCP 20
89 21 1,3 (1) 1,2 1,2 10C3+]13 96 10551 1 28 34 350 3 BCP 45
90 31 0.4 10C3 66 | 0751 1a] 26 28 390 | 3e | BCP 25
91 7 13,8 () 13.0} 13,0 10C3+bn+Ji3 66 0,7 ia 26 30 360 4e | BCP 20
94 26 0,9 10C3+/13 81 05 | la| 30 40 320 | 4¢ | BCP 20
94 31 2.2 () 1.8 1,8 10C3(79)+C3(61) 79 0,7 1 27 32 420 | 4¢ | BCP 25
101 42 0,7 9C31bn 86 0.4 1 28 40 220 | 3e | BCP 25
102 5 0,4 (1) 0,6 | 06 10C3+Bn 66 | 085 1 1a| 26 28 495 | 4e | BCP 25
111 5 2.7 10C3 38 0,7 la 18 26 245 2 BCP 15
Besoro: 174,3
TerepiBchke 6 5 0,8 9C31Jd3+bn 86 05 | laf 31 36 380 | 3¢ | BCP 30 2
8 35 4,2 8C31bn+/13 66 0,85 ] 1a] 27 30 485 4e BCP Kommnnexc 25 %
9 16 3,6 9C31bn0+/I3+0c¢ 66 09 {la] 26 26 480 { 4¢ | BCP | crosOypoBux 35 g
10 19 4.3 7C32/131bn 66 | 0851 1la] 25 26 410 | 4¢ | BCP | wukinHukiB 30 a
10 21 29 7C336n+Oc+/I3 76 06 | taf 27 28 310 { 4e | BCP 25 =




TerepiBcbie 10 25 2 8C31/131bn 76 0,8 { la] 28 30 460 | 4¢ | BCP 25
11 18 2.1 9C31I3+bn 76 0,8 {1a] 29 30 510 4 BCP 30
12 17 4 [€))] 3.4 3.4 9C316n+]13 76 0,7 ] la| 28 30 420 | 4e | BCP 30 g
18 41 1,6 4C34Bn(91)2Bn(41)+/13 | 91 0,6 | la]| 30 36 230 3 BCP 25 :u:
18 33 0,7 10C3+/13 154 | 04 1 33 34 310 3 BCP 20 ]
18 18 0,4 7C33/13 101 0.6 1 30 40 380 3 BCP E 20 3
18 40 0,3 4C33/132bn10c¢ 86 0.6 1 28 36 310 3 BCP E 30 ;
22 27 1,2 8C32/13 71 0,8 {laj 27 28 450 | 4e | BCP Z 30 z
31 5 2 10C3 91 0,6 2 25 28 330 4 BCP E 25 a2
41 42 2.4 [§))] 2.3 2,3 & 9C3l)I3 131 | 0,5 1 30 48 330 { 3e | BCP ] 30 E
41 9 3.9 6C34/13+bn 141 0.6 1 30 48 370 3 BCP §. 30 &
51 22 3 9C31/i3 131 0.4 i 32 48 280 2 BCP Q 30 B
52 24 7.4 9C31/13 151 0,5 1 31 44 320 2 BCP g 30 §
64 9 1 10C3 151 | 04 3 26 48 190 2 BCP 2 25 ;
64 10 0,7 10C3(151)+C3(57) 1511 04 2 27 44 240 2 BCP 2 25 §
67 10 3.4 9C313+bn 151 ] 0,6 2 30 48 400 2 BCP = 30 5
68 35 2.2 [@))] 2.1 2.1 8C32J13+bn 141 0.5 1 32 44 350 3 BCP < 20 §
75 22 1.3 10C3+/13 71 08 |la| 27 28 480 | 4e | BCP 35 e
75 25 2.1 9C31/13 71 0.8 | la| 27 28 470 | 4e¢ | BCP 35 .E(
77 4 7.6 ) 8.1 8.1 10C3 66 0.6 1 24 26 310 2 BCP 15 ™
80 19 6,1 10C3+]13 106 | 0.6 1 30 36 410 | 2¢ | BCP 25
80 11 5.3 10C3 106 | 0.6 1 29 36 390 2 BCP 25
Bcroro: 76.5
Murajbcbke 18 12 5.2 (1) 5,0 5.0 10C3+/13 76 0,7 1 24 26 360 2 BCP 35 a
21 15 1.9 (1) 2,1 2,1 10C3 106 § 06 | la| 30 36 420 | 4e | BCP E 65 =
22 11 0.5 10C3+/13 91 05 | laj 30 32 340 | 4¢ | BCP S 30 E
45 2 1.0 9C31/I3 106 | 05 | ta] 31 40 360 | 4 | BCP 5 65 a
46 2 0,9 8C31]/I31bn 81 08 [ la| 30 32 500 { 4¢ | BCP f 50 &
59 6 0,5 9C31Bn+Bay+ne 101 ] 0,6 | la| 32 40 420 | 4e¢ | BCP H 35 §.
59 7 4,1 1051ne 111 1 0,7 1 30 30 620 | 4¢ | BCP g 35 g
60 6 2.0 8C32bn+/I3+ 3 86 08 [ la| 31 32 525 | 4e | BCP \é’ 40 §
85 3 3.0 9C31 /3 71 0,8 1 25 26 410 | 4¢ | BCP —g 50 ':
85 2 3,0 9C31bn 71 0,8 1 25 26 410 | 4e | BCP 9 40 5
89 1 1,2 10C3 111 0,6 | laf| 33 40 460 3 BCP 2 35 =%
95 3 0,2 10C3+bn 101 ] 06 | la] 31 32 430 | 3¢ | BCP = 40 %
111 7 0.9 10C3+/13+bn 101 | 06 | la] 34 40 480 | 3¢ | BCP 2 50 5
113 6 17,6 10C3+/I3+bn 66 08 [ 16] 29 28 520 | 4e¢ | BCP 60 E
Bcroro: 42,0 -
IickiBcbKke 2 1 5 10C3 121 0,6 2 28 32 380 2 BCP 30
3 5 1.8 10C3 81 065] 1 26 28 370 2 BCP 20 e
3 6 1.5 () 1,4 1.4 10C3 81 0,7 [ la} 30 28 480 2 BCP Komrnekc 30 2
3 10 26 1) 2.8 2.8 10C3 91 0,651 1 28 28 410 2 BCP | cros6yposux 25 E
4 1 2.7 [€)) 3,0 3,0 10C3 91 0,6 2 22 26 280 2e BCP WIKiAHUKIB 25 :;
4 2 0.4 8C3(86)2C3(61) 86 0,6 2 22 28 270 2 BCP 20 =
4 3 8.9 (1) 9,3 93 10C3 91 0,7 2 22 26 330 2 BCP 40




IlickiBehKke 35 2 1,1 10C3 96 0,6 25 30 320 BCP 20
5 6 1.4 10C3 91 0,6 25 28 320 BCpP 15
5 7 2.7 10C3 91 0,6 25 28 330 BCP 20
5 9 29 10C3 86 0.6 27 30 360 BCP 25
21 15 1,7 7C3(76)2C3(54)1bu | 76 | 0.7 27 32 380 BCP 40
22 16 2,7 10C3 81 0,75 30 30 525 BCP 30
22 17 2,5 10C3 81 0,7 30 32 495 BCP 30
24 2 0,4 10C3 91 0,6 28 30 380 BCP 22
24 6 0,8 10Cs 91 10,75 30 32 520 BCP 15
24 5 4,5 10C3 111 [ 0,65 31 44 460 BCP 30
31 5 3.8 10C3 66 0,7 27 30 420 BCP 40
32 18 2 10C3+Ebn 66 | 0,85 27 26 510 BCP 30
33 4 29 10C3+bn 66 | 0,75 23 20 360 BCP 20
33 10 34 10C3 74 0.8 24 26 430 BCP 20
34 9 3,1 10C3+bn 76 | 0,8 25 28 440 BCP 25 2
35 1 11 10C3 66 [ 08 29 30 530 BCP 25 ]
3 3 59 10Cs 9T | 0,75 33 | 36 [ 580 BCP 20 g
43 13 0.4 10Cs3 91 0,7 33 40 540 BCP £ 25 a
46 18 2.6 10C3 81 1 0,7 29 30 460 BCP = 50 =
54 12 1,3 10C3 66 | 0,85 28 32 530 BCP g 30 g
57 14 1,1 10C3+bn 61 0,7 24 28 360 BCP 3 30 g
59 3 0.7 T0C3+bn 8 | 0.7 33 40 | 540 BCP £ 25 ¥
62 11 0.9 10C3 66 [ 0,7 25 28 380 BCP 2 45 §
73 9 1.6 10C3+B5n 66 10,73 27 28 1460 BCP oy 25 £
88 11 0,4 10Cs 66 [ 0.8 28 28 500 BCP <] 40 8
88 12 0,2 10C3+bn 66 | 06 26 28 340 BCP i 30 =
94 18 2.2 9C31bn 71 0,8 28 32 460 BCP § 50 E
96 7 0,2 10C3 71 0,7 26 28 420 BCP = 50 =
101 22 11 10C3+bn 81 0,7 32 36 555 BCP S 25 g
104 10 0,6 9C31 I3 81 0,7 29 30 440 BCP 40 5
106 5 23 10C3 91 0.7 29 32 490 BCP 45 E(
106 9 1,7 10C3+bn 66 | 07 29 30 475 BCP 35 &
110 8 2 8C32bn 71 0,7 29 32 390 BCP 25
110 10 2,5 9C31bn 71 0,8 27 30 440 BCP 40
111 3 4 10C3 66 | 0,75 24 28 420 BCP 35
112 1 1.2 10C3+]T3 66 [ 0,7 28 30 450 BCP 40
116 19 3,7 10C3 66 | 07 28 32 440 BCP 40
117 16 0,9 10C3 71 0,7 28 32 440 BCP 30
118 9 438 9C31]I3+Bn 101 [ 08 29 36 540 BCP 15
121 12 1,7 9C31[[3+13 91 [ 0,65 31 36 450 BCP 30
123 12 2,3 9C31/13+bn 76 | 0,7 30 32 460 BCP 30
128 5 3,2 10C3+bn 66 | 0,85 28 32 540 BCP 25
128 7 39 10C3 66 [ 0,7 29 32 485 BCP 25
128 10 1,7 10C3 66 0,7 30 32 480 BCP 30
129 13 29 10C3 71 0,7 28 30 440 BCP 30
130 5 1,2 8C32bn 66 [ 0,7 24 28 310 BCP 25




Mickiscore 135 9 0,8 9C3 1Btz o1 | 07 T1a] 32736 [3500] 4 ] BCP | Kommmexc 40 4o BURBACHO
137 2 0,7 8C32 15+ 3 76 | 0,6 | 16] 31 32 17400 | 4e | BCP | cros6vponnx 40
Beboro: 120,6
Mupuancbke 53 16 3,2 10C3 64 | 0751 1 21 24 330 | 4e¢ [ BCP 35
54 15 1.5 9C31bn 41 [ 0,7 | 1a| 18 22 | 230 | 40 | BCP x 40 °
54 16 2.2 T0Ca+bn 43 0,7 | 1] 18 20 | 240 | 4e | BCP E 35 2 ;
54 24 1.5 9Cs1bn 50 | 07 [Ta| 23 | 28 | 320 | 4e | BCP S . 40 3 E
54 32 1 10C3 58107 | 11 20 24 [ 280 | 4e | BCP 2 E 40 & 55
55 30 1.1 10C3+bn 66 | 0,6 [ 1a| 25 30 330 | 4e | BCP 5 g 30 g =t 2
57 14 0.7 ™ 7C33bn 66 | 07 | 1| 23 24 [ 280 | 4c | BCP g 40 g &8
58 20 7.4 9C31bn 68 | 085 1 24 26 415 1 4¢ | BCP = 40 = =
64 19 1.4 10C37Bn70c 50 07 [1a| 23 | 24 [ 340 4 1 Bep z 40 % 3
64 4 3.4 7C32bn1Baat3 58107 [1a]| 23 28 [ 295 | 4c | BCP 2 40 =
67 20 2 10C3 62 | 07 JTa| 24 T 26 | 360 | 4c | BCP 40
Bcroro: 25,4
baixuanceke 3 27 1,9 10C3 81 0,7 1 26 32 400 | 3¢ | BCP 20
3 14 7T (1) |69 69 10C3 76 | 0,7 | 1a] 27 32 | 420 | 36 | BCP 35
5 3 256 10Cs 8 | 07 [ 11726 | 30 | 400 | 3¢ | BCP 25
7 20 20 | (n 221 22 10Cs 91 | 06 [ T 28 [ 32 [ 380 3¢ | BCP 20
3 3 27 10C3 91 1 0S T T 26 [ 30 [ 2907 3¢ | BCP 20
3 9 26 | (1) | 23] 23 10C3 1001 06 [T [725 [ 34 |390] 3 | Bep 20
3 10 1.2 T0C3 81 07 T [ 26 | 28 [400| 32 | BCP 15 2
3 ] 2.7 10C3 86 | 07 | 1| 28 32 140 | 3¢ | BCP 25 g
3 12 20 | () |22 22 10C3 8 [ 0.7 [ 126 | 28 | 440 | 3¢ | BCP 20 s
3 19 1.5 10C3+bn 51106 [ Ta| 22 26 ] 270 | 3¢ [ BCP £ 20 :
3 5 6 | 1y | 18] 18 10C3 81 [ 0651 T 126 | 28 | 385 [ 36 | BCP S 20 ;
3 7 6 [ (y | L7 1.7 T0C3 81 [065] T 26 | 28 | 385 | 3¢ | BCP 2 20 £
9 3 3.0 T0C3 86 [065 | 1127 | 30 | 390 | 3¢ | BCP g 20 2
9 ] 2,5 10Cs 86 | 06 1] 26 28 340 | 3¢ [ BCP H 20 =)
9 7] 10,0 T0C3+bn 91 1065 T 26 | 28 [ 370 | 3 | BCP g 45 &
10 22 I 10Cs 76 | 07 | 1] 25 |28 | 380 | 3¢ | BCP ) 10 g
25 9 3.0 10C3 91 1 07 T 28 | 36 | 40| 36 | BCP e 30 8
26 73 .9 10C3 10106 | T 28] 32 [ 360 | 35 | BCP o 50 a
26 22 0,9 10C3 101 ] 06 T 28 32 | 3801 3¢ | BCP 2 10 g
26 26 0,8 10Cs 101 [ 06 T T 28 32 | 380 ] 3¢ | BCP s 40 'éi
26 75 1.4 T0Cs3 01T | 06 | 1] 28 32 1380 | 3¢ [ BCP ™ 30 g
36 Z| 4,7 10C3 71T 07 | 11 25 26 | 380 [ 4c | BCP 30 °
39 14 .4 10C3 76 | 07 TV [ 24 | 26 [ 360 | 2e | BCP 35 =
39 9 30 10Cs 76 107 [ 1] 24 ] 7 360 | 4 | BCP 35 &
39 15 1.2 10C3 76 1 07 [ 1724 | 26 [ 360 20 | BCP 35
39 I3 0,5 10C3 76 [ 04 111 24 [ 26 | 300 | 4 | BCP 35
54 24 23 10C3 81 [065] T 27 | 30 | 390 | 4 | BCP 35
60 7 0.4 8C32bn 50 TO6 T T [ 19 24 | 210 4 | BCP 30
60 ] 4 8C32bn 66 [ 07 | T 24 [ 28 | 320 | 4 | BCP 35
67 10 53 10C3 7107 | 1 23 24 1370 | 4e | BCP 45
Bceworo: 73.8




Kyxapcbke 22 4 1,3 10C3 81 055 1 26 32 330 | 3¢ | BCP 25
27 4 1,3 10C3(121)+bn+C3(80)| 121 | 0,5 3 23 32 210 2 BCP 30
37 5 1,4 T0C3+bn 121 0,5 | 3 | 23 32 [ 210 ] 2 | BCP 30
27 6 0,5 8C3(141)2C3(80) 141 04 | 3 23 30 160 2 BCP 30 e
27 13 1,7 6C3(80)2Bn1 Brul C3(60y+1z | 80 0,7 2 23 30 290 2 BCP 30 2
27 14 13 T0Ca+13 90 | 06 | 2| 25 | 36 | 360 | 2 | BCP 30 5
27 18 0,9 9Cs1bn 9 | 06 | 2] 25 32 300 | 2 | BCP £ 30 a
27 22 0,8 7C33bn+Ba 81 | 06 | 1| 24 | 32 | 250 | 2 | BCP = 30 =
28 2 3,0 T0Cs 151 | 0,65] 3 | 26 36 | 300 | 2 | BCP el 30 >
28 5 29 — 10C3 06 | 07 | 2 [ 27 | 32 | 460 ] 2 | BCP g 30 g
28 14 0,2 10C3 1411 04 | 4 21 30 150 2 BCP E 30 g
28 16 42 | (1) | 34 ] 34 10C3 101 07 [ 1] 28 | 32 | 430 | 2 | BCP & 30 &
28 17 T6 10Cs 136 | 05 [ 3| 22 | 32 | 210 2 | BCP 3 30 g
28 18 0,4 10C3 1511 05 | 3 23 32 205 2 | BCP g 30 .§
64 7 15,0 10C3+/I3 54 10951 2 18 18 340 | 4e | BCP o 10 5
70 1 7,5 T0Cs 76 | 0,8 | 2 | 20 | 24 | 360 | 4e | BCP 8 30 E
77 18 1,9 7C32bnl /I3 70 06 { 2 21 28 235 4 BCP E 40 g
82 15 2,2 10C3 71 [ 0,751 2 20 26 310 | 4e | BCP N 40 §
82 16 2,8 10C3 71 07 | 2 20 26 300 | 4¢ | BCP 40 =)
82 17 2.3 10C3 71 [ 07 | 2 [ 21 26 | 310 | 4e | BCP 40 E
86 6 2,6 10Cs 86 | 0,7 | 1| 27 | 30 | 420 | 4c | BCP 20 &
86 10 1,5 10C3 86 0,7 1 27 30 420 | 4e | BCP 20
99 17 2,3 8C32bn 66 0,8 1 22 26 330 | 4e | BCP 50
99 12 2,3 10C3 66 0,7 1 24 26 360 | 4e | BCP 30

Bcroro: 61,9

Koapsucbke 1 8 3,3, 10Cs3 60 0,7 1 21 26 340 3 BCP 20
1 23 1,6 10C3 60 0,7 1 21 26 320 3 BCP % 15 ©
1 24 2,7 10Cs3 60 | 0,7 | 1a| 23 26 | 340 | 3¢ | BCP 2 20 P
2 1 0,4 10C3 66 [ 065] 1 23 26 320 3 BCP £ 2 10 3 5
2 2 13 10C3 137 05 | 1] 30 | 36 | 340 | 3 | BCP G g 15 522
9 1 0,8 10C3 66 | 0,7 | 1| 24 | 26 | 360 | 3 | BCP g E 10 g3
9 2 1,2 10C3 131 06 | 1| 30 32 | 410 | 3 | BCP g 20 o &%
25 11 4,1 10C3+bn 76 07 |16] 30 32 500 | 4¢ | BCP 5 25 .E E
79 11 2,6 8C32bn 51| 09 | 1a| 21 24 | 350 | 4e | BCP z 30 % 8
171 13 25 T0Cs3 61 | 085 1 | 20 22 | 350 | 4e | BCP 2 25 =
173 1 8.5 10C3k 61 { 085| la| 24 28 470 | 4e¢ | BCP 30

Bceroro: 29,0
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